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(A) 7x3 ~ =5.2x3 (B) 0.4y ~ —5.2x
(C) —x3 + —3x2 (D) —x* + —=x
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(A) (a+ b)? =a?+ 2ab + b?
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(C) (a—b)? =a?—2ab — b?
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3. () (126 +124)(124 —126)2 = 7| & ¥ k4n ke 2
(A) 126% — 1242 (B) (126 — 124)?
(C) 1242 —1262 (D) (126 + 124)(126 — 124)
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(A) —6 —3x + 2x%2 — 7x3
(B) =7x3+2x?—-3x—-6
(C) =7x3—2x*>+3x—6
(D) 2x?2 —=3x—6—7x3
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(A) 54rb 2 (B) 647 2 R
(C) T4c8 2B (D) 84c9 2z ¥
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(A)—z (B) 3x2 -6
(C) 3x—6=0 (D) |-3x|— 6
T.C DB*7x3 —=2x%2 —3x — 67T 7|4t @ # & Fi ? [ 3% p23]
(A) %xeh= = %38 3% (B) = =% 5 —2x2
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(A) a>b>c (B) a>c>0»b
(O b>c>a (D) c>a>bhb
10. () FAsxeh= = 535\ > Bhixeh==x 5385 »
Pl AXB+BixenS=t 35?2  [Fp2T+p37])
(A &% (B ==&
(O ~=x (D) 1=
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(A) 3x2—-5x—7
(B) 3x2—5x+7
(C) 3x2+5x—7
(D) 3x2+5x+7
12. C ) (@+b)?&TslrE§Ripk ? [ pl18]
(A) (—a+b)> (B) (a—Db)?
(C) =(a+b)*> (D) (—a—b)?
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3. &(1) Vy121ehe=[ (3-1) ]-
(2) 3*x5% enTxqa=[ (3-2) ]-
(3) Va9ehT > =1 (3-3) ]-
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5. ¢ 4r3x — 2ehT 3 15 47 fxehig=[ (5) Y[#%p70]

6. 2(ax? —3x+ 1)+ x* +bx+4) 5 ¥ #5358
pla+b=[ (6) J- [ 3 p23])
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